E100

Explorer

Montagehandleiding
Notice de montage
Assembling manual
Montageanleitung

Leeftijd
Age group
Age / Alter
Edad / Eta

6-15

EUROPLAY nv

Eegene 9

B-9200 DENDERMONDE
tel. 32.52.22 66 22
fax.32.52.22 67 22
www.europlay.eu

Instrucciones para el montaje
Istruzioni di installazione

Dat.: 29/01/2019

Rev.: -
Page: 1/5

VALHOOGTE / HAUTEUR DE CHUTE /
FALL HEIGHT / FALLHOHE/
ALTURA DE CAIDA / ALTEZZA DI CADUTA

145kg

\ /:::
o <‘
O
O
- ¥
|
Groundlevel

VEILIGHEIDSAFSTAND / ESPACE DE CHUTE / SAFETY AREA /
SICHERHEITSABSTAND / ZONA DE SEGURIDAD / DISTANZA DI SICUREZZA

AFMETINGEN

4682

DIMENSIONS
MASSE
DIMENSIONES -

6865

DIMENSIONI
L: 3,.9m
Br: 1,7m
H: 3,3m

+32,5m?2




E100

Montagehandleiding - Notice de montage

Montageanleitung - Instruzioni di installazione

Assembling manual- Instrucciones para el montaje

Dat.: 29/01/2019

Page: 2/5

Benodigdheden - Liste des pieces - Materials - Bendtigtes - Accesorios - Requisiti

o) o) [®) o)
a4 N N V4
O 0 N <
oy o @ —
No) ™ — Ne)
~ | = N — —
Q
(®)] n|l = N
S ol 8 3| T ST Q
- ol 8 Y o o
O N X E < E N
5 x| £ ©| 5 5 x
% M| | & N = !
[%] 1 — ! 1
< 2z X3 013 2
o — | o x| Q x| © N
S S S S
— x| = on| = ~| 2 <
I T Blue ol I Green | Red 3
S ~ &8 3
o 5| = o | = ~| = ™
2 2 2
L N N
0 0 @
O O ™
N
— 0o
o o | — '
e — o o~ %
O x| L <13
O Q0 Nle o
[a o~ ZI -~ | D [ n
< X< | D T X
o o x :
S x| <|5 S %
L o | W ~ - L 0
x = Q& 0
— AN | — < | ™ ,>_< N
5x M10x45
——mmm 11x Yellow (]:ﬂ[l]
2x M10x35 Polyfix
, 12x
14x M6x30 @ (—2 .
White
6x 6,3x32 (@) {mwmm=
164 x86 x 51,2 0.28kg
4x  M8x10 [y 4x Lb-M-BuisklemChina-01
Inox
18x M10 —
X
}!1' 73 x 90 x 34,8 0.16kg
4x Lb-M-BuisklemChina-02
14x M6

0.16kg




Montagehandleiding - Notice de montage

E1l OO Assembling manual-Instrucciones para el montaje

Montageanleitung - Instruzioni di installazione

Dat.: 29/01/2019

Page: 3/5

4682

3158
2362

1612

2281

1523 _
2903 _
- 5341 _
- 6865 _
@ | 3x
i M62x 30
W ; X
% !
AR l
E100-As-Paal-01 % |
L © (o=
i 6,3 x32

| Groundlevel

I
[

Groundmark




Montagehandleiding - Notice de montage Dat.: 29/01/2019
E1l OO Assembling manual-Instrucciones para el montaje
Montageanleitung - Instruzioni di installazione Page: 4/5
4x

E100-M-Frame-02

N\ /E100-M-Klimboog-01 8 M8x10

Lb-M-BuisklemChina-02

E100-H-H-01
2518 x 95 x 35

E100-As-Plaat-01

Q@) MG

M10x45
5x




Montagehandleiding - Notice de montage Dat.: 29/01/2019

E1l OO Assembling manual - Instrucciones para el montaje
Montageanleitung - Instruzioni di installazione Page: 5/5
[ Groundlevel — [N ﬂ

| ol

4 2 8 O

T ! S +0,6m3

M < O
. o
N ~<

| 1

Bij droog weer moeten alle bouten en schroeven opnieuw aangespannen worden.
Par temps sec il faut resserrer régulierement toute la visserie.

By dry and warm weather check the tightness of all bolts and screws.

Bei frockenem Wetter mUssen alle Schrauben und Bolzen aufs neue angespannt werden.
Para el tiempo seco, se necesita cerrar o ajustar los tornillos y tuercas.

Con tempo asciutto, tuttii bulloni e le viti devono essere avvitati nuovamente.




